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Question #4 
Key: A 
 
The distribution function is 1
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Taking logs, differentiating, setting equal to zero, and solving: 

1

ln 3ln ln157,500 plus a constant
(ln ) 3 ln157,500 0
ˆ 3 / ln157,500 .2507.
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Question #5 
Key: C 
 

3 5 2

1 5 2 5 2

0

( |1,1) (1| ) (1| ) ( ) 2 (1 )2 (1 )4 (1 )

(1 ) 1/168, ( |1,1) 168 (1 ) .

q p q p q q q q q q q q q

q q dq q q q

� �

�

� � � � � �

� � � ��
 

The expected number of claims in a year is ( | ) 2E X q q�  and so the Bayesian estimate 
is 
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The answer can be obtained without integrals by recognizing that the posterior 
distribution of q is beta with a = 6 and b = 3.  The posterior mean is 

( |1,1) /( ) 6 / 9 2 / 3.E q a a b� 	 � �   The posterior mean of 2q is then 4/3. 
 
 
Question #6 
Key: D 
 
For the method of moments estimate, 
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386 , 457, 480.2
5.9558 .5 , 13.0335 2 2
ˆ ˆ5.3949, 1.1218.
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Then 


